
Feature Focus Article
Max-Air Technology Inc. | Rotary Actuators & Valve Automation Solutions 

Email: sales@maxairtech.com1

Flip Bracket
Easy Conversion Bracket for Mounting Max-Air Products to Non-Max-Air Products

Converting to Max-Air 
Just Got Even Easier 

We’ve already done all of the conversion work. 

Max-Air Technology introduces our new “Flip Bracket” program, 
targeted for in-place automated butterfly valves as a part of everyday  
MRO (Maintenance, Repair & Operations).  If the complete automated 
butterfly valve assembly can’t be replaced at once, this unique bracket 
and accompanying coupler and hardware allow for either the actuator 
or butterfly valve to be swapped out with a Max-Air actuator or Delta T 
butterfly valve and fitted to existing installed components with minimal to 
no impact.  With the engineering design work already done, this program 
is a turn-key solution for converting to trusted Max-Air brands without the 
need for complete assembly overhaul.
 
The stainless steel ”Flip Bracket” (Figure 1A) is the foundation for easy 
conversion.  One side of the bracket is designed to mount directly to ISO 
5211 or legacy (3.25”/5.00”) bolt circles and the other side outfitted with 
standard ISO5211 patterns.  A paired coupler is designed to fit exactly with 
your desired actuator or valve and mimic the existing output for seamless 
integration with the existing valve or actuator counterpart.  Provided 
bolting hardware is pre-selected to ensure easy and secure mounting.

Identify the Failed Valve or Actuator
When a valve or actuator fails, identify the 

part and allocate MRO (Maintenance, Repair, & 
Operations) budget then follow next steps

(See Figure 2A).

Upon Failure of the Remaining Parts 
When the other compenents fail, replace the 
with Max-Air Actuator or Delta T Valve. Then 
remove the flip bracket and coupler to save 

for next upgrade (See Figure 2D).

Step 1 Step 2 Step 3

Competitor’s Product 

Presized Drawings for Conversion Kits
(Click document name to view the full drawing.)

Max-Air Product

Static Torque Test Simulation

The Method: A Progressive Upgrade

 B
RA

Y 
HE

IG
HT

 

 D
EL

TA
 T 

HE
IG

HT
 

CPL=COUPLER

1: 2"-3"
2: 4"
3: 5"-6"
4: 8"
5: 10"-12"

B: BRAY VALVE
D: DELTA T VALVE

KIT PART NUMBER
EX: D1-B1-CPL

SIZE BRAY 
VALVE BRAY HEIGHT DELTA T 

HEIGHT
DELTA T 
VALVE

DELTA T 
COUPLER BRACKET FACE TO FACE 

(BOTH) (mm)
2" 5.5 6.6 020-05X-BST D1-B1-CPL H57-7325-BKT 43

2.5" 6.00 7.1 025-05X-BST D1-B1-CPL H57-7325-BKT 46
3" 6.25 7.3 030-05X-BST D1-B1-CPL H57-7325-BKT 46
4" 7.00 8.2 040-05X-BST D2-B2-CPL H57-7325-BKT 52
5" 7.5 8.9 050-05X-BST D3-B3-CPL H57-7325-BKT 56
6" 8.00 9.5 060-05X-BST D3-B3-CPL H57-7325-BKT 56
8" 9.50 11.9 080-05X-BST D4-B4-CPL H1012-10125-BKT 60
10" 10.75 13.2 100-05X-BST D5-B5-CPL H1012-10125-BKT 68
12" 12.25 14.5 120-05X-BST D5-B5-CPL H1012-10125-BKT 78

COUPLER VALVE HARDWARE ACTUATOR 
HARDWARE

D1-K1-CPL
1/4"-20X1" HEX 
BOLT, NUT, & 

WASHERS
M8-1.25X15 HEX 

BOLT & WASHERS

D2-K2-CPL
5/16"-18X1" HEX 

BOLT, NUT, & 
WASHERS

M8-1.25X15 HEX 
BOLT & WASHERS

D3-K3-CPL
5/16"-18X1" HEX 

BOLT, NUT, & 
WASHERS

M8-1.25X15 HEX 
BOLT & WASHERS

D4-K4-CPL
3/8"-16X1.25" HEX 

BOLT, NUT, & 
WASHERS

M12-1.75X25 HEX 
BOLT AND WASHER

D5-K5-CPL
3/8"-16X1.25" HEX 

BOLT, NUT, & 
WASHERS

M12-1.75X25 HEX 
BOLT AND WASHER

 B
RA

Y 
HE

IG
HT

 

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MAX-AIR TECHNOLOGY, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MAX-AIR TECHNOLOGY, INC., IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

DRAWN

CHECKED

ENG APPR.

MFG APPR.

DATENAME

TITLE:

SIZE

B
REV

WEIGHT: SCALE: 1:5

1

FDMVF 5/2/22

BRAY VALVE 
REPLACEMENT 20/21 30/31

SHEET 1 /1

VALVE REPLACEMENT
DWG.  NO.

Max-Air Technology, Inc.
114 Resource Dr.

Wentzville, MO 63385
(888) 842-9998

www.maxairtech.com

 A
BZ

 H
EI

G
HT

 

 M
A

X-
A

IR
 H

EI
G

HT
 

KIT PART NUMBERING SYSTEM
EX: K1-14-CPL

1: 2"-3"
2: 4"
3: 5"-6"
4: 8"
5: 10"-12"

CHANNEL SIZE OF ACTUATOR

CPL=COUPLER

K: KEYSTONE VALVE
D: DELTA T VALVE

*ADD .08" TO HEIGHT WHEN PLATE IS USED*
*NEEDED FOR KEYSTONE, ABZ, AND ANY VALVE
THAT NEEDS PACKING RETAINED

DOUBLE ACTING PACKAGE SPRING RETURN PACKAGE

VALVE 
SIZE

APPLICATION 
III TORQUE (in-

lbs)
ABZ DA 

ACTUATOR
ABZ DA 
HEIGHT

MAX-AIR 
DA HEIGHT MAX-AIR DA ACTUATOR

MAX-AIR 
DA 

COUPLER
MAX-AIR DA 

BRACKET
ABZ SR 

ACTUATOR
ABZ SR 
HEIGHT

MAX-AIR 
SR 

HEIGHT
MAX-AIR SR 
ACTUATOR

MAX-AIR SR 
COUPLER

MAX-AIR SR 
BRACKET

2" 156 ABZ-63DA 4.07 5.87 MT16.DA.F05-F07.CH14 K1-14-CPL H57-7325-BKT ABZ-75-5 4.72 5.87 MT17.S5.F05-F07.CH14 K1-14-CPL H57-7325-BKT
2.5" 170 ABZ-63DA 4.07 5.87 MT16.DA.F05-F07.CH14 K1-14-CPL H57-7325-BKT ABZ-75-5 4.72 6.54 MT21.S4.F05-F07.CH17 K1-17-CPL H57-7325-BKT
3" 336 ABZ-75DA 4.72 5.87 MT17.DA.F05-F07.CH14 K1-14-CPL H57-7325-BKT ABZ-100-4 5.89 7.29 MT31.S4.F05-F07.CH17 K1-17-CPL H57-7325-BKT
4" 444 ABZ-75DA 4.72 6.54 MT21.DA.F05-F07.CH17 K2-17-CPL H57-7325-BKT ABZ-100-6 5.89 7.29 MT31.S5.F05-F07.CH17 K2-17-CPL H57-7325-BKT
5" 843 ABZ-88DA 5.33 7.29 MT31.DA.F05-F07.CH17 K3-17-CPL H57-7325-BKT ABZ-125-5 7.38 8.74 MT41.S5.F07-F10.CH22 K3-22-CPL H57-7325-BKT
6" 1095 ABZ-100DA 5.89 8.74 MT36.DA.F07-F10.CH22 K3-22-CPL H57-7325-BKT ABZ145-4 8.23 9.31 MT46.S4.F07-F10.CH22 K3-22-CPL H57-7325-BKT
8" 1734 ABZ-115DA 6.52 10.31 MT41.DA.F07-F10.CH22 K4-22-CPL H1012-10125-BKT ABZ-160-5 8.74 11.63 MT51.S5.F10-F12.CH27 K4-27-CPL H1012-10125-BKT
10" 3225 ABZ-145DA 8.23 11.63 MT51.DA.F10-F12.CH27 K5-22-CPL H1012-10125-BKT ABZ-210-5 10.79 13.8 MT61.S4.F10-F12.CH36 K5-36-CPL H1012-10125-BKT
12" 4333 ABZ-160DA 8.74 11.63 MT51.DA.F10-F12.CH27 K5-22-CPL H1012-10125-BKT ABZ-240-4 12.52 13.8 MT61.S5.F10-F12.CH36 K5-36-CPL H1012-10125-BKT

COUPLER VALVE HARDWARE ACTUATOR HARDWARE *RETAINER PLATE
K1-14-CPL/K1-17-CPL 3/8"-16X1" HEX BOLT, NUT, & 

WASHERS
1/4"-20X5/8" HEX BOLT & 

WASHER RP-325

K2-17-CPL 3/8"-16X1" HEX BOLT, NUT, & 
WASHERS

5/16"-18X5/8" HEX BOLT & 
WASHER RP-325

K3-17-CPL/K3-22-CPL 3/8"-16X1" HEX BOLT, NUT, & 
WASHERS

5/16"-18X5/8" HEX BOLT & 
WASHER RP-325

K4-22-CPL/K4-27-CPL 1/2"-13X1.25" HEX BOLT, NUT, 
& WASHERS

3/8"-16X3/4" HEX BOLT & 
WASHER RP-500

K5-27-CPL/K5-36-CPL 1/2"-13X1.25" HEX BOLT, NUT, 
& WASHERS

3/8"-16X1" HEX BOLT & 
WASHER RP-500

 A
BZ

 H
EI

G
HT

 

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MAX-AIR TECHNOLOGY, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MAX-AIR TECHNOLOGY, INC., IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

DRAWN

CHECKED

ENG APPR.

MFG APPR.

DATENAME

TITLE:

SIZE

B
REV

WEIGHT: SCALE: 1:5

1

FDMVF 4/27/22

ABZ ACTUATOR 
REPLACEMENT 227 FOR 
221/222, 090/929, AND BF 
SERIES BUTTERFLY VALVES

SHEET 1 /1

ACTUATOR REPLACEMENT
DWG.  NO.

Max-Air Technology, Inc.
114 Resource Dr.

Wentzville, MO 63385
(888) 842-9998

www.maxairtech.com

 B
RA

Y 
HE

IG
HT

 

 M
A

X-
A

IR
 H

EI
G

HT
 

B: BRAY VALVE
D: DELTA T VALVE

CPL=COUPLER

CHANNEL SIZE OF ACTUATOR1: 2"-3"
2: 4"
3: 5"-6"
4: 8"
5: 10"-12"

KIT PART NUMBERING SYSTEM
EX: B1-14-CPL

DOUBLE ACTING PACKAGES SPRING RETURN PACKAGES

VALVE 
SIZE

APPLICATION 
GENERAL B 

(in-lbs)
BRAY DA 

ACTUATOR
BRAY DA 
HEIGHT

MAX-AIR 
DA HEIGHT MAX-AIR DA ACTUATOR

MAX-AIR 
DA 

COUPLER
MAX-AIR DA 

BRACKET
BRAY SR 

ACTUATOR
BRAY SR 
HEIGHT

MAX-AIR 
SR 

HEIGHT
MAX-AIR SR 
ACTUATOR

MAX-AIR SR 
KIT

MAX-AIR SR 
BRACKET

2" 110 48 3.88 5.87 MT16.DA.F05-F07.CH14 B1-14-CPL H57-7325-BKT 83-4 5.43 5.87 MT17.S5.F05-F07.CH14 B1-14-CPL H57-7325-BKT
2.5" 140 63 4.53 5.87 MT16.DA.F05-F07.CH14 B1-14-CPL H57-7325-BKT 83-4 5.43 6.86 MT21.S5.F05-F07.CH17 B1-17-CPL H57-7325-BKT
3" 220 83 5.43 5.87 MT17.DA.F05-F07.CH14 B1-14-CPL H57-7325-BKT 83-5 5.43 6.86 MT26.S5.F05-F07.CH17 B1-17-CPL H57-7325-BKT
4" 297 83 5.43 6.86 MT21.DA.F05-F07.CH17 B2-17-CPL H57-7325-BKT 119-4 7.28 7.29 MT31.S5.F05-F07.CH17 B2-17-CPL H57-7325-BKT
5" 462 93 5.78 7.29 MT31.DA.F05-F07.CH17 B3-17-CPL H57-7325-BKT 119-5 7.28 8.74 MT36.S5.F07-F10.CH22 B3-22-CPL H57-7325-BKT
6" 755 93 5.78 8.74 MT36.DA.F07-F10.CH22 B3-22-CPL H57-7325-BKT 119-6 7.28 9.31 MT46.S4.F07-F10.CH22 B3-22-CPL H57-7325-BKT
8" 1003 119 7.28 9.74 MT41.DA.F07-F10.CH22 B4-22-CPL H1012-10125-BKT 160-5 9.36 11.63 MT51.S5.F10-F12.CH27 B4-27-CPL H1012-10125-BKT
10" 1915 160 9.36 10.31 MT46.DA.F07-F10.CH22 B5-22-CPL H1012-10125-BKT 210-4 11.62 13.80 MT61.S4.F10-F12.CH36 B5-36-CPL H1012-10125-BKT
12" 2940 160 9.36 11.63 MT56.DA.F10-F12.CH27 B5-27-CPL H1012-10125-BKT 210-5 11.62 13.80 MT66.S5.F10-F12.CH36 B5-36-CPL H1012-10125-BKT

COUPLER VALVE HARDWARE ACTUATOR HARDWARE
B1-14-CPL/B1-17-CPL 5/16"-18X1" HEX BOLT, NUT, & WASHERS 1/4"-20X5/8" HEX BOLT & WASHER

B2-17-CPL 5/16"-18X1" HEX BOLT, NUT, & WASHERS 5/16"-18X5/8" HEX BOLT & WASHER

B3-17-CPL/B3-22-CPL 5/16"-18X1" HEX BOLT, NUT, & WASHERS 5/16"-18X5/8" HEX BOLT & WASHER

B4-22-CPL/B4-27-CPL 1/2"-13X1.25" HEX BOLT, NUT, & 
WASHERS 3/8"-16X3/4" HEX BOLT & WASHER

B5-22-CPL/B5-27-CPL/B5-36-CPL 1/2"-13X1.25" HEX BOLT, NUT, & 
WASHERS 3/8"-16X1" HEX BOLT & WASHER

 B
RA

Y 
HE

IG
HT

 

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MAX-AIR TECHNOLOGY, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MAX-AIR TECHNOLOGY, INC., IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

DRAWN

CHECKED

ENG APPR.

MFG APPR.

DATENAME

TITLE:

SIZE

B
REV

WEIGHT: SCALE: 1:5

1

FDMVF 5/2/22

BRAY ACTUATOR 
REPLACEMENT FOR SERIES 
20/21 AND 30/31 VALVES

SHEET 1 /1

ACTUATOR REPLACEMENT
DWG.  NO.

Max-Air Technology, Inc.
114 Resource Dr.

Wentzville, MO 63385
(888) 842-9998

www.maxairtech.com

 P
RA

TT
 H

EI
G

HT
 

 M
A

X-
A

IR
 H

EI
G

HT
 

KIT PART NUMBERING SYSTEM
EX: K1-14-CPL

1: 2"-3"
2: 4"
3: 5"-6"
4: 8"
5: 10"-12"

CHANNEL SIZE OF ACTUATOR

CPL=COUPLER

K: KEYSTONE VALVE
D: DELTA T VALVE

*ADD .08" TO HEIGHT WHEN PLATE IS USED*
*NEEDED FOR KEYSTONE, ABZ, AND ANY VALVE
THAT NEEDS PACKING RETAINED

DOUBLE ACTING PACKAGE SPRING RETURN PACKAGE

VALVE 
SIZE

APPLICATION 
III TORQUE (in-

lbs)
PRATT DA 

ACTUATOR
PRATT DA 

HEIGHT
MAX-AIR 

DA HEIGHT MAX-AIR DA ACTUATOR
MAX-AIR 

DA 
COUPLER

MAX-AIR DA 
BRACKET

PRATT SR 
ACTUATOR

PRATT SR 
HEIGHT

MAX-AIR 
SR 

HEIGHT
MAX-AIR SR 
ACTUATOR

MAX-AIR SR 
COUPLER

MAX-AIR SR 
BRACKET

2" 156 PV 050 3.54 5.87 MT16.DA.F05-F07.CH14 K1-14-CPL H57-7325-BKT PV 065 11 4.29 5.87 MT17.S5.F05-F07.CH14 K1-14-CPL H57-7325-BKT
2.5" 170 PV 050 4.29 5.87 MT16.DA.F05-F07.CH14 K1-14-CPL H57-7325-BKT PV 075 10 4.73 6.54 MT21.S4.F05-F07.CH17 K1-17-CPL H57-7325-BKT
3" 336 PV 065 4.29 5.87 MT17.DA.F05-F07.CH14 K1-14-CPL H57-7325-BKT PV 085 12 5.24 7.29 MT31.S4.F05-F07.CH17 K1-17-CPL H57-7325-BKT
4" 444 PV 075 4.73 6.54 MT21.DA.F05-F07.CH17 K2-17-CPL H57-7325-BKT PV 095 12 6.54 7.29 MT31.S5.F05-F07.CH17 K2-17-CPL H57-7325-BKT
5" 843 PV 095 5.63 7.29 MT31.DA.F05-F07.CH17 K3-17-CPL H57-7325-BKT PV 110 11 6.14 8.74 MT41.S5.F07-F10.CH22 K3-22-CPL H57-7325-BKT
6" 1095 PV 095 5.63 8.74 MT36.DA.F07-F10.CH22 K3-22-CPL H57-7325-BKT PV 140 08 8.19 9.31 MT46.S4.F07-F10.CH22 K3-22-CPL H57-7325-BKT
8" 1734 PV 125 7.52 10.31 MT41.DA.F07-F10.CH22 K4-22-CPL H1012-10125-BKT PV 140 12 8.19 11.63 MT51.S5.F10-F12.CH27 K4-27-CPL H1012-10125-BKT
10" 3225 PV 140 8.19 11.63 MT51.DA.F10-F12.CH27 K5-22-CPL H1012-10125-BKT PV 190 12 10.31 13.8 MT61.S4.F10-F12.CH36 K5-36-CPL H1012-10125-BKT
12" 4333 PV 160 9.05 11.63 MT51.DA.F10-F12.CH27 K5-22-CPL H1012-10125-BKT PV 210 10 11.58 13.8 MT61.S5.F10-F12.CH36 K5-36-CPL H1012-10125-BKT

COUPLER VALVE HARDWARE ACTUATOR HARDWARE *RETAINER PLATE
K1-14-CPL/K1-17-CPL 3/8"-16X1" HEX BOLT, NUT, & 

WASHERS
1/4"-20X5/8" HEX BOLT & 

WASHER RP-325

K2-17-CPL 3/8"-16X1" HEX BOLT, NUT, & 
WASHERS

5/16"-18X5/8" HEX BOLT & 
WASHER RP-325

K3-17-CPL/K3-22-CPL 3/8"-16X1" HEX BOLT, NUT, & 
WASHERS

5/16"-18X5/8" HEX BOLT & 
WASHER RP-325

K4-22-CPL/K4-27-CPL 1/2"-13X1.25" HEX BOLT, NUT, 
& WASHERS

3/8"-16X3/4" HEX BOLT & 
WASHER RP-500

K5-27-CPL/K5-36-CPL 1/2"-13X1.25" HEX BOLT, NUT, 
& WASHERS

3/8"-16X1" HEX BOLT & 
WASHER RP-500

 P
RA

TT
 H

EI
G

HT
 

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MAX-AIR TECHNOLOGY, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MAX-AIR TECHNOLOGY, INC., IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

DRAWN

CHECKED

ENG APPR.

MFG APPR.

DATENAME

TITLE:

SIZE

B
REV

WEIGHT: SCALE: 1:5

1

FDMVF 4/27/22

PRATT ACTUATOR 
REPLACEMENT PV FOR 
221/222, 090/929, AND BF 
SERIES BUTTERFLY VALVES

SHEET 1 /1

ACTUATOR REPLACEMENT
DWG.  NO.

Max-Air Technology, Inc.
114 Resource Dr.

Wentzville, MO 63385
(888) 842-9998

www.maxairtech.com

 K
EY

ST
O

N
E 

HE
IG

HT
 

 D
EL

TA
 T 

HE
IG

HT
 

KIT PART NUMBER
EX: D1-K1-CPL

K: KEYSTONE VALVE
D: DELTA T VALVE

1: 2"-3"
2: 4"
3: 5"-6"
4: 8"
5: 10"-12"

CPL=COUPLER

SIZE KEYSTONE 
VALVE

KEYSTONE 
HEIGHT

DELTA T 
HEIGHT

DELTA T 
VALVE

DELTA T 
COUPLER BRACKET FACE TO FACE 

(BOTH)(mm)
2" 22X0050 5.3 6.6 020-05X-BST D1-K1-CPL H57-7325-BKT 43

2.5" 22X0065 5.9 7.1 025-05X-BST D1-K1-CPL H57-7325-BKT 46
3" 22X0080 6.3 7.3 030-05X-BST D1-K1-CPL H57-7325-BKT 46
4" 22X0100 7.1 8.2 040-05X-BST D2-K2-CPL H57-7325-BKT 52
5" 22X0125 7.7 8.9 050-05X-BST D3-K3-CPL H57-7325-BKT 56
6" 22X0150 8.3 9.5 060-05X-BST D3-K3-CPL H57-7325-BKT 56
8" 22X0200 9.5 11.9 080-05X-BST D4-K4-CPL H1012-10125-BKT 60
10" 22X0250 10.9 13.2 100-05X-BST D5-K5-CPL H1012-10125-BKT 68
12" 22X0300 12.3 14.5 120-05X-BST D5-K5-CPL H1012-10125-BKT 78

COUPLER VALVE HARDWARE ACTUATOR 
HARDWARE

D1-K1-CPL
1/4"-20X1" HEX 
BOLT, NUT, & 

WASHERS
3/8"-16X5/8" HEX 
BOLT & WASHERS

D2-K2-CPL
5/16"-18X1" HEX 

BOLT, NUT, & 
WASHERS

3/8"-16X5/8" HEX 
BOLT & WASHERS

D3-K3-CPL
5/16"-18X1" HEX 

BOLT, NUT, & 
WASHERS

3/8"-16X5/8" HEX 
BOLT & WASHERS

D4-K4-CPL
3/8"-16X1.25" HEX 

BOLT, NUT, & 
WASHERS

1/2"-13X3/4" HEX 
BOLT & WASHERS

D5-K5-CPL
3/8"-16X1.25" HEX 

BOLT, NUT, & 
WASHERS

1/2"-13X3/4" HEX 
BOLT & WASHERS

 K
EY

ST
O

N
E 

HE
IG

HT
 

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MAX-AIR TECHNOLOGY, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MAX-AIR TECHNOLOGY, INC., IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

DRAWN

CHECKED

ENG APPR.

MFG APPR.

DATENAME

TITLE:

SIZE

B
REV

WEIGHT: SCALE: 1:5

1

FDMVF 4/27/22

KEYSTONE SERIES 221/222 
AND ABZ SERIES 090/929, 
AND PRATT BF SERIES 
VALVE REPLACEMENT

SHEET 1 /1

VALVE REPLACEMENT
DWG.  NO.

Max-Air Technology, Inc.
114 Resource Dr.

Wentzville, MO 63385
(888) 842-9998

www.maxairtech.com

ABZ
ABZ 227 Actuator Replacement
ABZ Valve Replacement

Bray
Bray Actuator Replacement
Bray Valve Replacement

Pratt
Pratt PV Actuator Replacement
Pratt Valve Replacement

Keystone
Keystone 79U Actuator Replacement
Keystone F89 Actuator Replacement
Keystone MRA_ MRP Actuator Replacement
Keystone Valve Replacement

Flip Bracket Drawing 
H57-7325 F05/F07 to 3.25/F07 Backet
H1012-10125 F10/F12 to F10/F12/5.00 Backet
RP-325 Packing Retaining Plate 
RP-500 Packing Retaining Plate

Select Comparable Replacement 
Use pre-sized conversion tables to select and 
replace with Max-Air Rack & Pinion or Delta 
T Butterfly Valve with Flip Bracket & Coupler 

(See Figure 2B & 2C).

Complete Set of Conversion Drawings

Figure 2A Figure 2B Figure 2C Figure 2D

Figure 1A

Your nearest Max-Air distributor can be found at:

https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_PackingRetainingPlate_RP-325.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/H1012-10125-BKT.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/H57-7325-BKT.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_ResilientValveReplacement_Keystone-ABZ-Pratt.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_PneumaticActuatorReplacement_ABZ-227.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_PneumaticActuatorReplacement_Keystone-79U.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_PneumaticActuatorReplacement_Keystone-F89.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_PneumaticActuatorReplacement_Keystone-MRA-MRP.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_ResilientValveReplacement_Keystone-ABZ-Pratt.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_ResilientValveReplacement_Keystone-ABZ-Pratt.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_PackingRetainingPlate_RP-500.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_ResilientValveReplacement_Bray.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_PneumaticActuatorReplacement_Bray.pdf
https://www.maxairtech.com/literature/09-Conversion/Drawings/Max-Air_PneumaticActuatorReplacement_Pratt-PV.pdf


Feature Focus Article
Max-Air Technology Inc. | Rotary Actuators & Valve Automation Solutions 

maxairtech.com

Email: sales@maxairtech.com 2 

Flip Bracket
Easy Conversion Bracket for Mounting Max-Air Products to Non-Max-Air Products

Dimensional Drawings
Units Measured in Inches. 

F05/F07 to 3.25/F07
Bent Bracket

F10/F12 to F10/F12/5.00
Bent Bracket

 
20

0.80 

 
95

3.75 

 
44

.4
50

1.
75

 

 
5

0.
19

7 

83
3.25

11
0.44

51
2.00

 
8

0.30 

 
80

3.15 

70
2.76

9
0.36

 
76

.2
00

3.
00

 

R0.25
ALL BENDS 4 X R0.10

 
64 2.
50

 

 
44 1.
75

 

70
2.76

9
0.36

 
5

0.20 
 

37
1.48 

38
1.50

50
1.97

8
0.30

 
6

0.
25

0 

 
8

0.
33

1 

 
10

0.
40

0 
 

16
0.

64
3 

 
38

1.50 

 
37

1.437 

3500 in-lbs limit

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MAX-AIR TECHNOLOGY, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MAX-AIR TECHNOLOGY, INC., IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

DRAWN

CHECKED

ENG APPR.

MFG APPR.

DATENAME

TITLE:

SIZE

B
REV

WEIGHT: SCALE: 1:1

0

FDMVF 6/3/22

BENT BRACKET F05/F07 TO 
3.25/F07

SHEET 1 /1

H57-7325-BKT
DWG.  NO.

Max-Air Technology, Inc.
114 Resource Dr.

Wentzville, MO 63385
(888) 842-9998

www.maxairtech.com

 
64 2.
50

 

 
5

0.
18

8 

 
51

2.00 

127
5.00

125
4.92

102
4.02

14
0.56

11
0.44

76
3.00

 13R0.50
ALL RADIUS

14
0.56

125
4.92 102

4.02

 
11

4
4.

50
 

 
140
5.50  

 
117
4.60  

 
64 2.
50

 

763.00

14
0.56

11
0.44

 
9

0.
36

0 
 

12
0.

46
1 

 
14

0.
55

0 

 
20

0.
79

3 

 
48

1.88 

 
51

2.00 

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MAX-AIR TECHNOLOGY, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MAX-AIR TECHNOLOGY, INC., IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

DRAWN

CHECKED

ENG APPR.

MFG APPR.

DATENAME

TITLE:

SIZE

B
REV

WEIGHT: SCALE: 1:2

0

FDMVF 6/8/22

BENT BRACKET F10/F12 TO 
F10/F12/5.00

SHEET 1 /1

H1012-10125-BKT
DWG.  NO.

Max-Air Technology, Inc.
114 Resource Dr.

Wentzville, MO 63385
(888) 842-9998

www.maxairtech.com

 
20

0.80 

 
95

3.75 

 
44

.4
50

1.
75

 

 
5

0.
19

7 

83
3.25

11
0.44

51
2.00

 
8

0.30 

 
80

3.15 

70
2.76

9
0.36

 
76

.2
00

3.
00

 

R0.25
ALL BENDS 4 X R0.10

 
64 2.
50

 

 
44 1.
75

 

70
2.76

9
0.36

 
5

0.20 
 

37
1.48 

38
1.50

50
1.97

8
0.30

 
6

0.
25

0 

 
8

0.
33

1 

 
10

0.
40

0 
 

16
0.

64
3 

 
38

1.50 

 
37

1.437 

3500 in-lbs limit

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MAX-AIR TECHNOLOGY, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MAX-AIR TECHNOLOGY, INC., IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

DRAWN

CHECKED

ENG APPR.

MFG APPR.

DATENAME

TITLE:

SIZE

B
REV

WEIGHT: SCALE: 1:1

0

FDMVF 6/3/22

BENT BRACKET F05/F07 TO 
3.25/F07

SHEET 1 /1

H57-7325-BKT
DWG.  NO.

Max-Air Technology, Inc.
114 Resource Dr.

Wentzville, MO 63385
(888) 842-9998

www.maxairtech.com

 
64 2.
50

 

 
5

0.
18

8 

 
51

2.00 

127
5.00

125
4.92

102
4.02

14
0.56

11
0.44

76
3.00

 13R0.50
ALL RADIUS

14
0.56

125
4.92 102

4.02

 
11

4
4.

50
 

 
140
5.50  

 
117
4.60  

 
64 2.
50

 

763.00

14
0.56

11
0.44

 
9

0.
36

0 
 

12
0.

46
1 

 
14

0.
55

0 

 
20

0.
79

3 

 
48

1.88 

 
51

2.00 

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MAX-AIR TECHNOLOGY, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MAX-AIR TECHNOLOGY, INC., IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

DRAWN

CHECKED

ENG APPR.

MFG APPR.

DATENAME

TITLE:

SIZE

B
REV

WEIGHT: SCALE: 1:2

0

FDMVF 6/8/22

BENT BRACKET F10/F12 TO 
F10/F12/5.00

SHEET 1 /1

H1012-10125-BKT
DWG.  NO.

Max-Air Technology, Inc.
114 Resource Dr.

Wentzville, MO 63385
(888) 842-9998

www.maxairtech.com


